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In each of the following, use a directed number to represent the situation opposite to the
given one.

(a) —S600 represents a decrease of $600 in profit.

(b) +10 cm represents 10 cm to the east of a mailbox.

In each of the following, write down the opposite number of the given number.

(a) —26 (b) —%

In each of the following, mark the number and its opposite number on the number line below.
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0 +1
(a) +2 (b) -5 (c) +7

Use a number line to find the result of each of the following expressions.
(@) (+3)+(-9) (b) (=2)+(+7)

Y

Use a number line to find the result of each of the following expressions.
(@) (-2)-(+5) (b) (+3)—(+4)




6. First remove the brackets, then evaluate the following expressions.
(@) (+6) +(-15) (b) (=2)+(-18)

7. Evaluate the following expressions.
(@) (-2) x (+3) x (+4) (b) (+8) x (1) x (-7)

8. Represent each of the following word phrases by an expression and evaluate the expression.
(@) Multiply —3 by +8.
(b) Add -3 to the product of —2 and +5.

**9. Refer to the number line below.
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(@) Write down the directed numbers represented by A, B and C.
(b) How many integers are greater than C and smaller than B?




**10. (@) (+1)—(-8) + (+4) — (+6) (b) (-2) + (+3) = (+1) — (=8)

**11. In a quiz, each candidate has to answer 15 questions and the marks obtained from each

qguestion are shown below:

Unanswered
Correct answer Incorrect answer .
question
Marks 4 -3 0

(a) John answers 5 questions correctly and answers 8 questions incorrectly. What is his final
score?

(b) Paul obtains 16 marks from questions answered correctly and his final score is —8 marks.

(i) How many questions does he answer incorrectly?

(ii) How many unanswered questions does he have?
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1. 2x+1=5 5. —-7c=21-4c
2. 3x+2=23 6. 27 +5x=-18 +6x
3. 1-4x=17 7. 3Xx-6=2x+9
3X 8. -7x+12=-9-4x

4, 31-—=19
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9. Xx+9=2(6—x) 13 1(2x—1)=5
-3

14, 1792 _ o,
10. -2 (7-11x) = 8x 3
15 1GY+S) _ 4,
11.4(3x—3)=5x—19 5
12. x+1= > 16. M+4=—2o
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(a) t*x3t2x5¢°

(a) 4w?z>x 6w’z

7**.(a) 30a'b’®+(-5ab*)x2a’b

(b) v®+ud+u?

(b) 35p%g* +7pg®

(b) 6x°y®xx°y =+ (-24xy®)
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Bl 2x=3)+(5x+8)=2x—3+5x+8 Bl Bx+4y)—(2x+5y—1)=3x+4y-2x—5y+1
=2x+5x—-3+8 : =3x-2x+4y-5y+1
=7x+5 =x—-y+l1

B MG - (8-12)

8.

(@) (3x—6)+ (4x+1)

(b) (8b+3)+(2b-9)
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9. (a) 2h—1)—(7h+2) (b) (k+6)—(8k—7)

10. (a) (2¢>—5)+(-5-2¢?) (b) (3d—4d?) —(d*>+7d)
11. (@) Bu—-v+2)+(u—-3v-4) (b) (2d + 5e — 6f) — (4d — 6f — 5¢)
12. (@) (m*+3m-5)+(4m3—-6m-7) (b) (2n*—3n?>-5n+8)+(2n—4n®-3 +6n?)

13**. /N $(4x2 +2) - 875 $(9x—7-x2) -
(@) MfFIHEAEFIAZL D 2 (5 x &7 °)
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14. (@) 9(m +5)

15. (a) a(a +2)

16. (a) (a+3)(a+5)

17**(a) (h + k)(h — k)
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=2x" +2x—4x—4

=2x*-2x-4 7

(b) (2n-3)(-4)

(b) —b(1 - 6b)

(b) (b—4)(b+1)

(b) (m+2p)(-9m + 4p)

18**. (m+1)(m - 3)(m-1)(m + 3) (&= {(EHS 17 a RAAVEER)
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